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TG <E# 1ELEARE>

&L (Frvy| KEL | BS EFH 25 | [E#| FC | YDS| 1§ | TD
1 A BEX 1 |k = 1 4 o 79 19.8 0
2| A BEX 7 |KAR R 3 5 0 73] 14.6 0
3|1 A Ets [ 26 [/ & 2 7 1 62 | 10.3 0
41 B -{EIPN 7 |mE E=F 3 6 1 38| 7.6 0
5 A B X 8 4 |/Mk #HE 2 6 0f 37/ 6.2 0
6| A BEKX | 41 |BE EA 1 8 1 29 | 4.1 0
7| B B{AX 9 |l RE#EE 4 5 0 7] 1.4 0
8 A B 82 Ik EHRE 4 7 0 1.3 0
9 B FEX 82 |ARH HE&E 3 5 0 4( 0.8 0
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lE6L [Favy| KEFER | BS EFL PE (@S| FC [YDS| FH5 | TD
1 A m=) | 44 (=B B 4 1 0| 65650 1
2| B HF¥K | 29 |WE BLE 4 2 1 221 22.0 0
3| B HEK | 95 |EF EXH 2 1 0 13]130 0
41 B BAX 19 |ARM 4 2 1 91 9.0 0
5 B F¥XK | 99 |&% AHH 3 1 0 6| 6.0 0
6 B B K 11 |fp KE 4 3 0 91 3.0 0
7] B BHEX 13 |&E B 4 2 0 41 2.0 0
8| B HF¥KXK | 21 |Fl #X 3 3 0 51 1.7 0
9 B BEX 13 |f #BX 4 1 0 1] 1.0 0
0] A EtéE | 23 |[KAE #HBE 4 2 0 0] 0.0 0
10 A EtiE 4 A RKH 4 1 0 0] 0.0 0
0] A BEX 4 |EE % 1 1 0 0] 0.0 0
0] A BN 2 |[E#% BRE 1 1 0 0] 0.0 0
4] A BEX 3 [IBE & 1 1 0 -11]-11.0 0




